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Lesson 3 Exit Ticket

Myra has 5 members in her family, including her. She was wondering how many hours per week each of her family members spends on the computer if the mean value is 8. If you know the mean value is 8 hours, what are five possible values that could represent the number of hours per week each family member spent on the computer?

Is there only one possible solution to this problem? Explain.
Would the data be symmetric around the mean? Explain.
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Answer KEY

Lesson 3 Exit Ticket 

Myra has 5 members in her family, including her. She was wondering how many hours per week each of her family members spends on the computer if the mean value is 8. If you know the mean value is 8 hours, what are five possible values that could represent the number of hours per week each family member spent on the computer?

Answers will vary.

5 + 10 + 10 + 8 + 7 = 40

40 ( 5 = 8

5 hours, 10 hours, 10 hours, 8 hours, 7 hours
Is there only one possible solution to this problem? Explain.
No, any five numbers when added together that give you a sum of 40 would give you a mean value of 8. 
Would the data be symmetric around the mean? Explain.

Answers will vary. In this case the data would be symmetric around the mean. Two values are above the mean; two values are below the mean. One value is the mean.
